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General Instructions:
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All questions are compuisory.
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The question paper consists of 34 questions divid ed into four sections A, B, C and D. Section-
A comprises of 8 multiple choice questions of 1 mark each; Section-B comprises of 6

questions of 2 marks each; Section-C comprise:: of 10 questions of 3 marks each and Section-
D comprises of 11 questions of 4 marks each.
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There is no overall choice in this question paper

Use of calculator is not permitted.
wug-H / SECTION - A

Uy e 1 ¥ 8 W Werh Ue 1 37 ¥
Question numbers 1 to 8 carry 1 mark each.
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he nrime factorisation of 3825 is :

IX5 %21 (b) 3 x5'x35
32 % 57 % 17 (d) 3 x25%17
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what value of k, v1e pair of equations 4x - =9, 2x + ky= 11 has no solution :
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and B are the zeroes of the polynomial ax2+bx+c then the value
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1
faf  Xv=GR (b  Xv=- QR

1
(c) Xy2=QR? (d) XY= —QR
In the figure, XY||QR and L hen
S0 YR
(a)  XY=QR ° b  Xy= :‘;— ol
{c) XY2 = QR? 5 = (d) XY == 3 QR
2
6 TqfE sech + tanf = x B, 7% ;;ec0 TTER T - I 1
: 2 2
X 1 X 1
(a) (b}
X a
% el ]
© 2x ey
If sec + tanf = x then sect is equal to
e goasl
(a) (b) :
x i
2 2
S | e
C & d ,
( ) 2ix N ( ) 2

7 gfe wHFU AABC fasd B wwwm ¥ o wF =H #w ¥, A sinC4cosC WUsR 1

(Al o0 (B e
€ 19w (D) 1% =ifies
If Cis an acute angle in a right AABC, right angled at B, then the value of sinC + cosC is equal
to: :
Gy on ® 2
(C)  less'than one (D)  greater than one
8 n HeTol &1 WA x ¥4 Al g deror F | s fewn AW, gW H 2, @ g WER oA, A AmmeA Y. 1

Page 3 of 10



— == + i ==
TR e Gl @. ¥T+Z= M X+ I
2 2 2
The mean of n observations is X . If the first item is increased by 1, second by 2 and so on,
then the new mean is :

(A) X+ a (B) ;{: “; ©) k- nl (D) §+-,n“1

wus-a/ SECTION - B
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Question numbers 9 to 14 carry 2 marks each.

5 a7y ToFEE fafd g 144, 112 3R 418 %1 LCM T SIS | 2
Find the LCM of 144, 112 and 418 by prime factorisation.

/w/ , %WW%WWWWWWWWW,W; 2l .
8 16
Find the quadratic: polynomial whose sum and product of the zeroes are fsl and -
. 16
respectively.
/ x2—4%wmﬁmam@mﬁmwmmﬁwﬂﬁﬁqﬁﬁﬁ%%%: 2

lind the zeroes of the polynomial 2 —4 and show that its zeroes are numerically equal but

/opposite in sign.
2 F‘fWSFlZCmETWﬁW%%“@QTWﬁmScm%I <t e T HER E R S

2
e 40 m $1 TR I S 0 i |
A vertical stick 12 cm long casts shadow of 8 cm long on the ground. At the same time, a tower cast @
shadow of 40 m long on the ground. Find the height of the tower.
2

2
g it T - [tanﬁ T o E) — sec20 + cosec2d @_
tan & (o)

£

1 2
) = sec28 + cosec?f

Prove that: [tane -+
tan®

A
5
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1 : 10-20 |20-30 |30-40 |40-50 |50-60 |60-70
EECIGIE 1 3 5 9 7 3
Find the sum of lower limit of median class and the upper limit of modal class :
Classes : 10-20 ][20-30 [30-40 [40-50 [50-60 [60-70 |
Frequency: |1 3 e 7 3 :
ol w@Uug-d/ SECTION - C \

9 AT 15 § 24 ek Yk WA 3 3eh 1§
Question numbers 15 to 24 carry 3 marks each.

/fs/ i s Hfe s 4, 12 3R 20 e ¥ sfeta W as €1 AfE 3 sHRdl wh W A, A R 3
o =1 3 iR STl o geedt sl ?

Three Alarm clocks ring at intervals of 4, 12 and 20 minutes respectively. If they start ringing
together, after what time will they next ring together ?

>

il

/e./ ﬁmmnﬁmﬁamﬁm@ﬂwﬁﬁmaﬁm e :

2x+5y=20
3x+y=10
e &, 3 el S 31 9 R Qﬁﬂﬁ@'ﬂﬁﬁ ot wifem |

Represent the following pair of linear equations graphically :
2x+5y=20

Bxt+y=10

Also, shade the region enclosed between the lines and the x-axis.

3 3 9 TH WEm % e 1 A w7 ¥ il & ee 3 W W wem H A 2 e W R e 3
m%gﬁ%wﬁr*mﬁ%i TEAT FA DI |

e sum of digits of a two-digit numbers is 7. If the digits are reversed, the new number
decreased by 2 equals twice the original number. Find the number.

1 iz 98T p(x) = (a+1)x> + (2a +3)x+(3a+4) F AR H AT-1 2 @ 3Eh Sl A PUHE 3
I I
If the sum of the zeroes of the polynomial p(x) (a + l)x +(2a+3)x+(3a+4)is —1, then find
the product of its zeroes.
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5
If the diagonals of a quadrilateral divide each other proportionally, prove that it is trapezium.
/ﬁxﬁﬁwﬁmgcﬁ, STl AB, BC 3R AC & Heafsig waen D, E3RFE1 AABC & a9%a sl 3
i ADEF F &3¢t %1 ST 1 Shiforg |
In AABC, D, E and F are mid-points of AB, BC and AC. Find the ratio of area of AABC and
area of ADEF.
Al g wifs fo (1+ tanAtanB)’ + (tanA — tanB)’ = sec’A .sec’B S 3
L5 %
Prove that (1 + tanAtanB)’ + (tanA — tanB)’ = sec’A sec’B 3 o ‘ &
zi/‘r”asrff ACAE=14 A, AC=13 9", BC=5F.7. 2, i tand =1 71 710 Ffr 3
S EE
[V
14 cmDH 6 .
ey
<
2 5cm
Y [u
A B
In figure, if AE=14 cm, AC=13 cm, BC =5 cm, then find the value of tanf.
B
6
14 cmD} &
06\' e
2 kD.£m
e m
A B
y/ﬁmuﬂvﬁﬁwm?ﬁ%mﬁﬁ%waﬁﬁm(*@r.ﬁ.ﬁ)f\'ﬂiﬁﬂi%‘: 3
& S AR A) | 7199104 | 144146 | 146 - 148 | 148150 | 150 - 152 | 152 - 154 | 154 - 156
Terenfel=i E3l
: 4 6 9 1l 9 7 2| S5
& T SgeF HaS I TUHT HITSIY q8] 3T SR H1 ATl Hirea |
The following table gives the heights (in cm) of a group of 55 students in a class :
Height | 140 - {142 11424 - {94 = 1 e 1L S S (T
(incm) | 142 144 146 148 150 | 162 154 156
Numbe, | 4 6 o 12 9 7 3 5
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Compute the modal height of the class and interpret the result.

/

24 551 @Rot § 50 Tedar % 4R (f. 7 H) e frr e € 5
R (fe.m. H) 100-110 |110-120 |120-130 |130-140 | 140- 150
YgddHl B B | 4 14 21 8 3

Tee Ml &1 3i9d 97 F1d R |

The weighits (in kg) of 50 wrestlers are recorded in the following table :
Weight (in kg) | 100 - 110 110-120 | 120-130 | 130-140 | 140-150
Number of i 14 1 5 3
wrestlers

Find the average weight of the wrestlers.

©Qus-q/ SECTION - D

Wo HEAT 25 U 34 Teh Teidh U9 4 3Tehl &1 51
Guestion numbers 25 to 34 carry 4 marks each.

25 6 TerR s, 8 ferR et 9 10 Rerr e sifusil et &t o mia & @l o 99 FE F 4
/ fiolg o &1 WSS 21eATYE, SER Ayl (&l TR SR sxeR g o fafie safa s e s
€
@) ¥ HIT f T 7 A 0 FH e =afeddi it gar i |
(b) 3wl 9§ Hattd g gey |

6 retired teachers, 8 retired doctors and 10 retired defence officers are willing to render their
services to a village. Each of doctor, teacher and defence officer serves equal number of
?{érent persons in that village.

a) Find least number of persons served by each.

(b Suggest the value of services.

o oA faftr gri & SRS : 4
2 (ax—by)+(a+4b)=0 e
2 (bx+ay)+(b—4a)=0

Solve by cross multiplication method.

2 (ax—by)+(a+4b)=0

2 (bx+ay)+(b—4a)=0
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On dividing flx)=3x'—-2x*+ 5x—5 by polynuiial px}, the (uotient and remainder are

x2—x+2 and —7 respectively. Find p(x).

af e TR TN 3 TR A Wi A skl e e e S @ A F o oI A <l B, 4
et Fogst 3 e 2R i s # o awed 14 T

if a perpendicular is drawn from the vertex of the rizh: angle of a right triangle to the hypotenuse then
the triangles on both sides of the parpendicular ate similar to the whole triangle and also to each

othe;

T e st 1 #0125 om & @ g A1 el F H TH =5l F 5 cm TS ¥1 gEO S e 4
F) TS T T |

Hypotenuse of a right triangle is 25 cm and out ¢f the remaining two sides, one is longer than the
pther by 5 cm. Find the lengths of the cther two sides.

T b = S AR > 0%, T cosd R tan) F WE TG FTCL 4
et : 3
it sin® = < - and d > 0, find the values of -osd and tan$.
2 2
et
:

e e
mﬁm%:l tan < {] Far |

5 (ul29 el

i
H

) 3
1% tan-*® 1 At
Prove that: ¥ [

et Cotzﬁ sl

frq T fs H AMLBC 314 tanB = O/ tanC %4, ST BC=56cm A, A AM F TR T 4
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In tha figure given, AMLLBC. Iftan B = 3/ , tanC = 5/, and BC=56cm. Find the length of AM.
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The mean of the following frequency distribution is 57.6 and the number of the observations is 50. B

Finel 4hmissing frequencies f; and f>.

Class

0-20

20-40 |40

- 60

60 - 80

80 - 100

100 - 120

Frequency

7

A

02

7

8

5

W‘?_[&aﬁﬁmﬂaﬂX?mfmofamﬁﬁﬁﬁgﬁﬁ'ﬁaﬁﬁﬂﬁﬁﬁﬁﬁ@%[ 5 S Bl agelh #d

- 10 ®|20 Alz0 wl4 [ice HF0 o0 Téiso 1
Eae| EX Ll FH Cal FH &Y ER|

g 7 21 34 46 66 T 92 100

HEH]

Less |Less Less Less |[Less Less |[Less Less
Marks than | than than than |than than |than than
10 20 30 40 50 60 70 80
Number of i
st 7 21 24 46 66 77 92 100

The following table shows the marks obtained by 100 students of class X in a school durin g a
particular academic session. Find the mede of this distributions.
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